25, BTG xR
(N4 EEEEARE LRSS VBRI EGY

(EFI0EE)
- A EHFEDIKR ELyAtEsE
= 7 A RER | ms mem |z = @ | A
TREE - R IL 53 1 4 1 7
WeTEm 12 - - -
e T 1 - - - -
E Y - - - - -
it 66
E{Ti 7 = - -
HT1H R () it - - - - -
B 2 - - - -
—RARAS 1 = - - -
—EAEaE (NLAREVE— 9 - - - 4
N LADARA oS RAE - - - - -
5 Z0Hs 8 - 1 - 1
it 18 - 1 - 5
EE 150 2 6 2 2
E£5 364 17 12 7 17
Ry =25 16 = = 5 2
(FREREMEIET) - A 1 - - - -
5\ —= S| kR MR 104 1 1 1 1
(FREREMEIRT) - A 1 - - - -
5t 120 1 1 6 3
FpeaT] 1 = = - -
BEE 3 - ) - -
ES 17 - 3 - -
Tkl 12 - 1 - -
e 2 - - - -
TR &8 8 1 3 - 1
Z 0t 6 - - - -
) 5t 49 1 9 - 1
5 BEMERE 8 - - - 1
pe BEMERIEE AT 1 - - - 1
EENESANAS Y FERE - - - - - -
BREMRE K KERE S 1 - - - - -
| BRI B KB E R 9 - 2 - - 2
ERERT 5 sk @A in 3 . — . — —
EEMRTHEREHRE 3 - 1 - - 1
EEMEESE —REEE - - - - - -
EEMEESERATEE 4 - ) - -
5t 29 - ) - 5
EEEE 8 = 1 - 1
. E e 4 - - - 4
BE - SHMOGREERSE - - - - -
5t 12 - 1 - 5
& e 810 22 5 36 16 46
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(2)/kERE&

DKEREF DR R (TAR30EE)
THETH & EiR BithET | Z4ET A RLHET ZRHET
TEREREAD 112,997 21,348 7,347 6,995 7,561
ETE#RKADO 118,700 20,999 7,020 9,200 7,520
KRR AO 112,997 21,348 7,347 6,995 7,526
BaEfhkAO 112,777 20,942 6,783 6,995 7,526
ta/KBARER B $35.11 S48.7 H29.4 S41.4 $37.7
£okE 1 A1 BEtERXIGKE 580 513 772 829
FHE 1 HRXIEKE 68,800 3,600 7,100 6,235
[RIK3E Al it % R xR o
LR D TE5I wreeo | RS miew | | MR
HEHKAD _| PRk - - -
5 52 KE HWAKRBRADO - - - -
BEMHRKAD - - - -
AL FEER D BRI - - - -
BTk 0(2) - 3(0) - 1(1)
sEKE FERRRFEA KA O 0(1223) - 1196(0) - | 360(390)
BREHRAKAD 0(385) - 95(0) - 0(0)
[FKDFEHI R FZ - xR - #E
&5t KRR ALD 112,997 21,348 8,543 6,995 7,886
B&EHAKAD 112,777 20,942 6,878 6,995 7,526
TR (BERKAOD-TRRERBAD) 99.8 98.1 93.6 100.0 99.5
%%gmmﬁmrﬁui 200 25 3 2 17
10m kK 304 56 - 1 6

HRKE: BEKROA (BT KEREDHLLS)
WEBM RRMK R EHF FRRHF KRKRK BBEK 208Kk2K
BRRES 2 2FEA MK BRE& VRIVHY FIEMHRAE I7.I7L—13r pH:pHAR 4 APNE R EEE £ ENRLE H O

@7k EHE R [l E R AR R

AR I04EEE)

T ET#4 ER 2 SERET B R T ZEHT a&t
LoKE - 1 1 1 3
S KE - - - - _
a&t - 1 1 1 3
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